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BERSNACENERER(RUBREXBEFTRD)

1| 1XKER EEHT 20 7 511 @R A= 19.8 ha H30 ~ R6 480 18 13
2| 1RAIR EEH 42 9 1511 XExE A= 41.8 ha R2 ~ R8 1,049 308 154
ANE 2 — — 2,022 - - 1,529 326 167

BERSNACEMERERR(RIGBREE(PLEREE))

e o | BEHT
3|LEBEL 45 9 1,708 X@m A= 44.6 ha R4 ~ RI12 38 33 1,638
[ayyelil]
e | BEHAT
4| LEBE 2 75 8 1,600 ®EHE A= 74.6 ha R5 ~ R13 0 13 1,587
EhhET
AN 2 — - 3,308 - - 38 46 3,225

AFMEREREFTECBR(DTRABFEEX(BEFR BT ILAMBEER))

FAKEE () A= 187.5 ha
5 & EIRET 202 9 469 Rl ~ R5 347 122 0
XEIE A= 62.9 ha
FoK % (1) A= 403.9 ha
Hokig L= 461 m
N N XEEE A= 350.3 ha
6| AzmEE R ERHRET 747 65 2,422 R3 ~ R11 636 92 1,694
[EESZ 28 A= 4.3 ha
GRS A= 2.7 ha
(=N L= 30 km
FA7KEE (1) A= 29.8 ha
7 582 EIRET 43 7 291 R3 ~ R7 48 23 220
XEEE A= 17.2 ha
A E 3 - - 3,182 - - 1,031 237 1,914

AFEREREEECEE(BTREBRFE(DETRAER T LA (BMERMAK)))

8 vl R 467 27 1,390 =EmAk L= 6,482.0 m R4 ~ RI12 97 81 1,212

NS ] - — 1,390 - - 97 81 1,212

KRR EREE E LB ORFIMERER (KRR R (REAKHER)))

9 =2 Th T 283 36 640 HEkEE L= 1,683 m R5 ~ RI10 0 50 590

N 1 — — 640 - - 0 50 590

KRR ERETEMBRCORAERFR (ERAFERRLE))

10| JI7E%52 L HhHET 912 114 1,360| mkeE@E) | L= 4919 m R3 ~ R8 491 100 769

ANE 1 - - 1,360 - - 491 100 769

BB SR B (R R R (AP AR SRR (AR SR HER (BHKERERER))))

11 R i) 66 19 106| FAkE(ER) L= 852.0 m R4 ~ R6 65 25 16

N 1 — — 106 - - 65 25 16

ENERBR(RE - FREBEFEECADLR))

12| WLiERS 1) 346 18 75| REERS L= 53 m R2 ~ R5 67 8 0

AN 1 - - 75 - - 67 8 0

BRERLEREREE(EERSMERERRRNE))

o e e #ET L= 270 m
13[ &% 2 il 134 7 1,622 e H30 ~ R5 1,330 292 0
BE=IR 4 £

N il = — 1,622 - — 1,330 292 0

BEEX 13 = = 13,704 - - 4,647 1,165 7,892
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ENBREER(BEEEHAERBEREECEILR))

1 vl LHHET 68 826 451| AERHERR -3 R2 ~ R6 273 98 80
2| MRz L ET 26 132 260| MLIEHEEE —= R4 ~ R7 10 55 195
NEE 2 — — 711 - - 283 153 275
BHHERERESRE
3| THbES ThbE 29 8 24| miFgEs L= 600 m R5 ~ RS 0 24 0
Lhb
4 ” L H AT 370 66 A4 FAkea(m) L= 980 m R4 ~ R6 16 20 7
FAKEB9
Thb
5 L HHET 27 10 27| Fkes(E) L= 99 m R4 ~ RS 24 3 0
FAKE10
X @R A= 1.16 ha
s e 22 11 ~ R 4 2
6| ZFHE4L L Hy 60 — A 20.89 ha R4 5 55
NEE 4 - - 155 - - 96 51 9

REKBERSFGL - PISRKEE

T FvR L HhHET 24 6 2| AAkMET MER R5 ~ Rb 0 2 0
8| ¥*v=| Thbfr 35 6 11| RKMHT 118FT R5 ~ Rb 0 11 0
9 s LhbhET 4 5 140 Bk L= 470 m R5 ~ R7 0 22 118
10 €5 2 EHT 84 10 27| FAkE&(E) L= 829 m R5 ~ R6 0 14 14

NEE 4 — — 180 - - 0 49 131
HrEsEE 10 = = 1,046 - - 379 253 415

RERSNACREBRFXGEHEEERBRFRRFEEVFRABRUBRERER)

. wwEE | A= 155.7 ha
1| = & 158 11 126 = R3 ~ R 69 38 19
s T S I vane | R 6
LAY -
P BEH] - R A= 291.7 ha
2| s MY - 336 8 323| mmmm | A= 439ha | R4 ~ R7 67 60 196
) AT - REY=G | L 600 m
BT
EHT -
B3R He - 166.8 h
Ik }Efq@ BT - 167 22 136 %ﬁﬁ A ® | Rs ~ Rs 0 50 36
El . EHEAL A= 0.6 ha
M
W 3 — - 585 - — 136 148 301
AHEEE 7 3 — - 585 = = 136 148 301
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